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(v) T G&IT 22 G 29 7% J9F F97 5 3 HT 8/ 570 G JdF J97 HT I
120 57551 @ 37er %7 787 &1 FeT |

(vi) T G&IT 30 THT Gra=E J97 5 3% 71 8 (2 3% a8 797 3 3F

Y1) |
(vii)  *R T Tl %1 3791 FR-GIRAF] & G o7 Forg |

General Instructions :
(i) The question paper has 30 questions in all. All questions are
compulsory.

(ii) Marks for each question are indicated against the question.

(iii)  Questions from serial number 1 to 9 are Multiple Choice Questions.

Each question carries 1 mark.

(iv)  Questions from serial number 10 to 21 are 3 marks questions. Answers

of these questions should not exceed 80 words each.

v) Questions from serial number 22 to 29 are 5 marks questions. Answers

of these questions should not exceed 120 words each.

(vi)  Question number 30 is a map question of 5 marks (2 marks from

History and 3 marks from Geography).

(vii)  Attach the filled up map inside your answer-book.

1. f=fafaa 9 9 =99 91 9reg foesft samr i faesf fes & Sefieor w s«
Tare? 1

(A)  FRIEH 51 Y
(B) 3aUST 5 TS
(C) Tava wmey Tt

(D) fava =R T
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Which one of the following organisations lays stress on liberalisation of

foreign trade and foreign investment ?
(A) International Monetary Fund

(B) International Labour Organisation
(C)  World Health Organisation

(D)  World Trade Organisation

2. 1922 H e 7 TGN SAEIGH HI A9E oiH F1 e 8 @ w8 a1 g
T AT 7 1

(A)  SIfTaTeTe T ST
(B) Tacsa e
(C)  TicTe T ol 16 BT

(D)  EH—= "

Which one of the following was the main reason for Mahatma Gandhi to

call off the Non-Cooperation Movement in 1922 ?
(A)  The Jallianwala Bagh incident

(B)  Khilafat movement

(C)  The passing of the Rowlatt Act

(D)  The Chauri-Chaura incident
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3. Ued ol B ol feremreran e fefefed v | @ for d fera R 7 1
(A) TSEIH
(B) TSI
(C) 3T
(D) dferTg

In which one of the following states is the largest wind farm cluster

located ?

(A) Rajasthan

(B)  Gujarat

(©)  Andhra Pradesh

(D) Tamil Nadu

4.  frafafea § & guefss wonur w1 @t s A AR 7 1
(A) I8 el § IUR A T3 FA G0RT &
B) =l @ sur & 7 eAut
(C) IR oie s UHT T 7, fSEeh IUFIT 98 YW ! TR <4 & &Y
T AT @
(D) =AMR H faw &t 718 gt
Which one of the following is the appropriate meaning of collateral ?
(A) Itis the sum total of money borrowed from banks
(B)  The amount borrowed from friends
(C) Itis an asset of the borrower used as guarantee to a lender

(D)  The amount invested in a business
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5. Tmafafaa d @ == @1 %o o1 e dia g ? 1
(A) U
(B) HEHRI Gl
(C) R
(D) i o grameft

Which one of the following is a formal source of credit ?
(A) Traders

(B)  Cooperative societies

(C)  Money-lenders

(D)  Friends and relatives

6. TrAffad somi & @ b o1 hem ot foey o fed oy’ Fwed A wdi 2 7 1
(A) @ G S foiy fed o s, wrgfees fea o ufafaftes e 2 |

(B) @1 T foreht q&d 3899 [ WIS k1 e, Sfcsh A9 Tewt sht gl
31T SHeToT HEAT BT 2 |

(C) ST @& ST WLl sht Tl 31fg foheel o7 1 gag AT BIaT 2 |

(D) 3 goa TqE forelt nt o =1 W & forelt @ra wg Sk fedt ot sigran
TE |

Which one of the following statements is correct regarding ‘sectional

interest groups’ ?

(A)  They promote collective rather than selective good.

(B) Their principal concern is betterment and well being of their

members, not society in general.
(C)  They aim to help groups other than their own members.

(D) They do not seek to promote the interest of a particular section or

group of society.
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7. & WAl 9T USHITO G sl gH1E TR g1 fHefefaa glaansti § 9 &H

ot gfaen ye@ A STt 7 7 1
(A)  wrferTH (B) T % fore ety
(C) =g (D)  ESU-UH

Which one of the following facilities is offered by the ‘Election

Commission’ to a recognised political party ?

(A) Party name (B)  Election funds
(C)  Election symbol (D) Manifesto
8. 3Gl oAishad o UiorH i ffaIlad # @ i 91 U 3SR | 7 1

(A)  vg@ AfeE 3t ¢ B o el ads =
(B) e fm A et § garm

(C) 3T STEHTAT ol FH ! H G

(D) I g T ¢ ATEehT o I8 Ger

Which one of the following is an example of outcomes of a democracy that

produces an accountable Government ?
(A)  Open to public debates on major policies and legislation
(B)  Open in promoting economic development

(C)  Open in reducing economic inequalities

(D)  Open to rulers elected by the people
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9. 1845 H faciftEn § TR gR1 Soherl % e fasie e o ffafaa § @
I 9T &I TR0 AT 7 1

(A)  ShH A Ik P! H WRY HHt HT S
(B) 38, 3 foT et ATet <l 31mgfd U
(C) 3B, 3Tehl (HTHd U & ATST AT 71 oL faam
(D) SR o BT S TTHIT o
Jrora
o # “TifeR fit wpat’ @ieH w1 ffafad 9 & & @1 g swem o ?
(A) ‘ufgeht &’ i foren 39 & forw
(B)  ‘smyfes fran’ <4 % fow
() ‘fogm it fran’ 33 % forg
(D) ‘SIEEt 9IS’ Rt SR S S o Ty

Which among the following was the main reason for the weavers to revolt

against contractors in Silesia, in 1845 ?
(A)  Contractors reduced their payments drastically
(B)  They stopped the supply of raw materials to them
(C)  They refused to place orders for finished textiles
(D) Condition of weavers was very pitiable

Or

Which among the following was the main reason to start the ‘Tonkin Free

School’ in Vietnam ?

(A) To provide ‘Western Style Education’
(B) To provide ‘Modern Education’

(C) To provide ‘Science Education’

(D) To popularise the ‘French Language’
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10.  AVohad hi SfeiddT ¥ SIEEN! o Toh8 JehR AT=iich TF-Y & ¢ SIfcAfadT oh Il
o FISTIoRTT o RaaT TG ol 3aTeT od §U, T8 ST | 3

How are popular struggles integral to the working democracy ? Explain

with an example of Bolivia’s struggle against privatisation of water.

11.  ihditieh SRR forE TR fSieR Tiehr o €9 § ST STt @ 7 38780 |fgd
Tee hifeg | 3

How is democratic government known as responsive government ? Explain

with an example.

12. 3y faerel o fuer & fow Greadia =R 97 form yoer enfua femanm
T8 ? ¥ I | 1+1+1=3

How has a three tier quasi judicial machinery been setup for redressal of

consumer disputes ? Explain.

13.  ‘DRFATER &1 § el IR TG ST 1 ARTRAT Hohexvl T 7 7 IS dF
ERURSEEAIS 1 3x1=3

Why has ‘Chotanagpur Region’” maximum concentration of iron and steel

industries ? Explain any three reasons.

14. T TOR § Ifgdr 2q, @1 € § IR U T, ®: e A 6 3ol
T | 6xY2=3

Mention the six mail channels introduced recently to facilitate quick

delivery of mails.
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15. JoferA g fofsa aet 8w a3 s oee & gfa fFg geR
Tfdfshan =<k i ? TE HifSY | 3

YT

1926 § fordam § &M 3fea Tod TEA § UH a1 Qe R 33 Tl
B3 7 TT I |

How did the local people in the areas conquered by the Napoleon react to

French rule ? Explain.
Or

Why did a major protest erupt in 1926 in the Saigon Native Girls School in

Vietnam ? Explain.

16. USHIfd® ot & 1 T9FEl 1 9ol ST | 3x1=3

Describe the three components of a political party.

17. ST & TR FeAmE o fo=R i ST it | 3

Explain the idea of Satyagraha according to Gandhiji.

18.  TmaTedl W f¥eRe e o fore ffest gemem g ey foedlt i gmer
YT ST U IR | 3x1=3

Describe any three suppressive measures taken by the British

administration to clampdown on nationalists.
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19. 3 S & gz & form R Iwm TR Siar @ 7 3emen afed T
HIf | 3x1=3

How is money used in everyday life ? Explain with examples.

20. THAIAl o T WA LR 4 faesft s o1 foesft e w gfdse s @ ?
e IS | 3x1=3

Why had Indian government put barriers to foreign trade and foreign

investment after independence ? Explain.

21, ‘qufeiy e gdn feer uear | Rl o ot o s ifsi s
gatawiia fefieror it Tenemy § 9/ 2 Jehd © | 3x1=3

‘Environmental degradation has been seen everywhere’. Explain any three

values that can help to prevent environment degradation.

22, JUNIEATST Rl IR H fRE YR wwor gar & 7 foRel uiw e wfeq
Wy S | 5%1=5

How does exploitation of consumers take place in the market ? Explain

with any five facts.

23, Gfoa aq TRIeE H fofye amiieeh aqgml = fohe TR o form 7 3areeon
Gfegd T78 S | 5

How did different social groups participate in Civil Disobedience

Movement ? Explain with examples.
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Explain the role of multinational corporations in the globalisation process.

25.  FUTd & At 1 e R fava & drehda Sl o T R SR SR e |
A1 7 T9E I | 5

How has the struggle of the Nepali people become a source of inspiration to

democrats all over the world ? Explain.

26. Ao g oo fRIfE gE # 3E forw e R dfe e v wemmafe
G 3! R I | 5x1=5
JrraT
B gRT B | @i W o %o @l ka6 foe 38 ™
U = TR TR 3cud i | 3 HUA il AT o |

Explain any five social and administrative reforms introduced by Napoleon

in the regions under his control.
Or

“The measures taken by the French to control the spread of bubonic plague

in Hanoi created a serious problem.” Explain the statement.

27. 31 YR il TR 1 T § AR JehR hl TR foh JohR S8 2 7 T8
IS | 5x1=5

How is democracy a better form of government in comparison with other

forms of governments ? Explain.
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28.  WHSI 1 TREAV FAT A9 & ? WS ok T o e = 3urn o e
shifsTe | 1+4=5
Why is conservation of minerals essential ? Explain any four measures to

conserve minerals.

29.  “° FfY R I UH-q@ F WH 7 | UT IaTe0n Afed T I | 5x1=5
“ ‘Agriculture’ and ‘industry’ are complementary to each other.” Explain
with five examples.

30. (30.1) < AT A IR B WRA o U T TeHIfeh WaT-AHe 1 Afha fre
T B | 37 eqon b Feferfad STHer i gee @ Teeie 3R 3
e AW, A W S 1 et w e
(A) I8 TN V&l TUarer 1920 T WA TS i a1 ATGEIH
ToTT o |
(B) 9% TIM W&l 1918 ¥ Il UL HREH % HSIGU hl TR
ST femam T o |

(30.2) 9Hd % 3E UeEhfas T@r-amt & frefafea # sugs foE @
391U 3R 3k 1 feAfau 3x1=3
()  TorcmE-arer 3t seara @a=
(i) PR~ 6 2 F5
(iil) TSI Gl - AU 7S g

(30.1) Two features A and B are marked in the political outline map of
India. Identify these features with the help of the following
information and write their correct names on the lines marked in
the map :

(A) The place where the Indian National Congress Session
was held in September 1920.

B) The place where the cotton mill workers Satyagraha was
organised in 1918.
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(30.2) On the same political outline map of India, locate and label the

following with appropriate symbols :
(1) Bhilai - iron and steel plant
(i1)  Coimbatore - cotton textile centre

(iii))  Raja Sansi - international airport

die: FAfafed y@ waw godim ufenfdai & fw w1 @@ 30 *
AW ; 5%1=5

(30.1) 3 TAM T I FATSY, &l fGH@=R 1920 H ARG THF HEH Al
SIPERERSIRIN

(30.2) T 1918 T Fcil HUST HREMI o FSIgUl - ohH TIH T TRATE TR
ToRam o ?

(30.3) s et R geaTa wA form TS A fera @ 7
(30.4) 3T TS I 19 FA1SC, FSraw iy gt o e fa R |

(30.5) TSI GrET A=A TS TGSl b TR T fedrq 7 7
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Note : The following questions are for the BLIND CANDIDATES only in lieu
of Q. No. 30.:

(30.1) Name the place where the Indian National Congress Session was
held in December 1920.

(30.2) At which place did the cotton mill workers start the Satyagraha in
1918 ?

(30.3) In which state is Bhilai iron and steel plant located ?
(30.4) Name the state where Coimbatore textile centre is located.

(30.5)  In which city Raja Sansi international air port is located ?

32/172 14

————————————— e ————————



https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14

	Button26: 
	Button1: 


